

$\frac{t}{9}$

$151, 175$   
 $t + t + t9 = 21$

چون سوال به غیر صریح خواسته.

$(1, 5)$

$\frac{t}{9} \times t \times t9 = t^3 - 9t^3 \Rightarrow t = 2$

$t = \frac{1}{9}$

$\frac{t}{9} + t + t9 = 21 \Rightarrow \frac{t}{9} + t9 = 19 \Rightarrow t + t9^2 = 179$   
 $t + t9^2 - 179 = 0 \rightarrow t = 2$   
 $t = 2$

$x^4 + 2x^3 - 8 = 4x^2 \rightarrow x^4 - 2x^3 - 8 = 0 \rightarrow x = \pm 2 \rightarrow x = 2$

$SV = 8 \left( \frac{1 - (\frac{1}{2})^4}{\frac{1}{2}} \right) = \frac{12V}{8}$

$(2) \checkmark$

$24^3 + 24^3 \cdot 9 + 24^3 \cdot 9^2 + 24^3 \cdot 9^3 + 24^3 \cdot 9^4 = 24^3 (1 + 9 + 9^2 + 9^3 + 9^4) = 24^3 \times \frac{1-9^5}{1-9} = 24^3 \times 1111 = 24^3 \times 1111$

$(2) \checkmark$

$1, 0, 0, A, 0, 0, 4f$   $\frac{4f-1}{4} = \frac{4^3}{4} = d$

$1 + \frac{4^3}{4} \times 4^3 = 1 + \frac{4^3}{4} = 1 + 31, 1, 5 = 32, 1, 5$

$1, 0, 0, B, 0, 0, 4f$   $4f = 9 \Rightarrow 2 = 9$   
 $1 \times 9^3 = B \rightarrow B = 1$

$(1, 5)$

$1 + 31, 1, 5 = 32, 1, 5$   
 $32, 1, 5 - 1 = 31, 1, 5$

$-2f, \frac{-9d}{f}, \dots$   
 $-2f = \frac{-9d}{f}$   
 $d = \frac{1}{8f}$

$\frac{101}{f} - \frac{94}{f} = \frac{d}{f} = \frac{1}{8f}$

$128, a_2, a_3, a_4, \dots, a_n = \frac{a}{f}$

$\frac{a_1}{a} = 9^k = \frac{128}{a} = \frac{f \times 128}{a} = 9^k$   
 $d \cdot \frac{1}{f} \Rightarrow a_1 = -12 + 15 = 3$

$(2) \checkmark$

$$t^2, tv, t^3$$

$$t+2d, t+4d, t+8d$$

$$\frac{t+4d}{t+2d} = \frac{t+8d}{t+4d} = (t+4d)^2 = t^2 + 8td + 16d^2$$

$$t^2 + 12td + 16d^2 = t^2 + 8td + 16d^2$$

$$4td = 0 \Rightarrow d = 0$$

$$(a+d)(a+vd) = (a+3d) \Rightarrow 2ad - 2d^2 = 0 \Rightarrow a = d$$

$$q = \frac{br}{b} = \frac{rd}{rd} = r \Rightarrow br = \frac{1}{r} \times r^9 = r^8 = 128$$

✓

$$2a^2q + a^2q^2 = 4a^2q^2 \Rightarrow q = 2 + \sqrt{2}, q = 2 - \sqrt{2}$$

$$a^2 (t^2 - 4q + 3) = 0$$

$$t^2 \neq 0 \Rightarrow q = 1 \text{ or } q = 3$$

$$a_1 = \frac{a}{r}, a_n = \frac{1}{r}, a_{13} = -1 + (a + \frac{a}{r})(r-1) = (r + \frac{1}{r})^2$$

$$\frac{-x}{r} - \frac{r1}{14} = 0 \Rightarrow \frac{-r1}{r} \text{ h.w.} \rightarrow -r - a - \frac{ra}{r} \Rightarrow a = \frac{a}{r}$$

✓

$$t + tq^3 + tq^4 = v^3 \quad t(1 + q^3 + q^4) = v^3$$

$$t + td + tqd = v^3$$

$$t(1 + 1 \cdot d) = v^3$$

$$t(1 + d + qd) = v^3$$

$$\frac{1 + q^{12}}{1 + 1 \cdot d} = 1$$

$$1 + q^3 + q^4 = v^3 \Rightarrow q = 1$$

همی تواند باشد  $d=0$